AP Calculus BC—Dr. Quatttrin
Derivative Test v8

Directions:

1. At what point on the graph of y=

Show all work.
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2. Given the functions f'(x)and g(x) that are both continuous and
differentiable, and that have values given on the table below.
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& Let y=f (x) be the solution to the differential equation % = 47)6 with the

initial condition f (0) =1. What is the best approximation for f (1) if Euler’s

method is used, starting at x = Dwith a step size of 0.5?
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4. Which of the following statements must be true?
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3. Assume the volume of a sphere is increasing at 12 in%eo When the

volume of the sphere is 367 in®, how fast is the surface area increasing?
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6.  The slope of the line tangent to xy—y*+6=0 at (1,2) is
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Let y=e*™ +sin~'(cos2x). Find y'.
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9. If 4x?+9y*=36, find j—xg—]in lowest terms.
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11.  According to the adiabatic law for expansion of air, P-VA = % , Where P is

pressure and ¥ is volume. At a specific instant, P = 108 1b/in2 and is increasing at
4AY — 27 Ib/in2 per second. What is the rate of change of the volume at that moment?
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